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[ 1
1] =1 [32] =5 (600mm 50-100kg )
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1
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( o1
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4 8 (
4 8 (
4 8 (
C )
4 8 (
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)
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« D
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[ 1
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)
)
)
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1
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)
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1
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m3
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)
)
)
«
18-8-25(20)
]
1] = 1 9] =3
[N = 41 18-8-25(20) [5] = 2
71 =1 [JB8] =1
[N3] =1 [N4] =1
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(D) (D)

« )
18-8-25(20) 60%

1
1] = 2 [29] = 3
1] = 42 18-8-25(20) W/CBO0% [J5] = 2
[J7] =1 [.]B] =1
[N3] =1 [N4] =1
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1] = 2 [29] = 3
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[J7] =1 [.]B] =1
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[N3] =1 [N4] =1
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/H=1,000

2] =1

223




43

()

()

/

/H=1,500

2] =1

224




()

()

/

/w=700

2] =1

225




45

()

()

/

/w=1,000

2] =1

226




46

m3
() ()
)
)
)
«
18-8-25(20)
]
1] = 1 9] =3
[N = 41 18-8-25(20) [5] = 2
71 =1 [JB8] =1
[N3] =1 [N4] =1

227




01

-2

228




%



A5

\ /.
Q@
R

24




IE4:

N=TBAEZEHETE

GEI=EI)
____ =& g 2 = — g
(SE%/ES) (I_EVE*%Z) (Evﬂs) {ﬂ(BLEVELf)I] (T:QEVEEE') M| B | WEHE | RESE fﬁ%ﬁ% # A
Ny = 1.00 1
Bt S pk T = 1.00 1
AT = 1.00 1
IEEIR L #3#£30000m35k%| m3 10 123.83 120 BiHY
1B () 5.000m3skiH, BEEL | m3 10 93.34 90 BigmL
B+T = 1.00 1
BRIARE T 20,000m3Ki#E | m3 1 1.10 1 HETIE4.0mbLE
BRIARE T fETiEzsmpteomiis| M3 10 61.34 60 (htsitaet)
BRL pidic m3 | 10 180.92 180 (GEgEL)
EHRINIET = 1.00 1
TREMWA H4EL m3 1 -1.75 -2 HETHA
EELT = 1.00 1
REY MR m3 10 115.88 120 218
BRL MR m3 10 57.95 60 £t=
Ve LE L] EEEL m3 10 51.48 50 1=
AEERT = 1.00 1
EAEET = 1.00 1
SAHER T IhY x 1 2.00 2
hAMEET = 1.00 1
rhARHER NFEIXFE x 1 1.00 1
rh RS NIEILY x 1 1.00 1
rhARHER HYILANY x 1 2.00 2
th A £ II/% x 1 1.00 1
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.= 15.96m+7.92m = 23.88
i 136.08 136.08 m




(5] 15 « IS5 A T

T il

= o
= . =
= Hi B L

%

==X
SHEER T (2) PEARIH N B ~JETHE A B
(CHL, i, i) | L= 7.68
LA B~ A D (2)
.= 3.04m+9.38m = 12.42
A B (2) ~FEIH A B (1)
= 14.33
AT N B (1) ~ PRI A [
= 7.48
i 41.91 4191 m
SEHEER T (3) A B (1)
(CH i, FfR, —f) | L= 1.40 1.40 m
SHEER T (4) A B (1)
(CH i, EL, s | L= 0.60 0.60 m
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)30 R % (FMA)
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